
890 DUKE R 2021 <2021><US><F9775U3>
MASK, FENDERS

54223

Pos Part Number Description Additional Text Quantity

1 61614020010 EJOT PT SCHRAUBE 50X54 1.00

2 6410800200030 Mask Spoiler right black 1.00

3 6410800300030 Mask Spoiler left black 1.00

4 6410800100056 headlightmask centerpart 1.00

5 64114018001 Hose D=6/8 EPDM, Meter 1.00

6 60006001022 rubber grommet 9x11x16x8.5 mm 2.00

7 61614020100 Ballhead holder 1.00

8 61412032010 Bush 13X7X3.3 2.00

9 0081250141 SCREW FOR PLASTIC PT K50X14T25 2.00

10 64114010010 cover mask carrier 1.00

11 0081050141 EJOT PT screw K50x14 2.00



12 54603048600 RANGE CHANGE METAL NUT M5 INOX 4.00

13 69008021160 special screw M5x12 15.00

14 61614019100 Screwshaft 1.00

15 64114010030 Cable Cover Maskcarrier 1.00

16 64114010040 cable bushing mask carrier 1.00

17 64114510044 USA mask support, mounted 1.00

18 69014014000 Bushing 6.1X9.2X7.5 08 2.00

19 69014017000 SPECIAL SCREW M6X18 ISA30 08 2.00

20 64108010000AB fender front part 1.00

21 64108011000 fender rear part 1.00

22 64112084000 Reflector holder, right 1.00

23 64112083000 Reflector holder, left 1.00

24 60012080100 SIDE REFLECTOR YELLOW "CEV" ONLY USA & AUS 2.00

25 0081050181 SCREW FOR PLASTIC K50X18 T20 300 TPI Erzbergrodeo 4.00

26 64108015020 numberplate holder right 1.00

27 64108015010 numberplate holder left 1.00

28 0024060156 HH collar screw M6x15 TX30 ONLY USA 4.00

29 64108015060 Rubber damper top 2.00

30 64108015070 Rubber damper bottom 2.00

31 64108015050 cable holder numberplate holde 3.00

32 6411208100033 Retaining bracket side reflect 1.00

33 60408061050 RUBBER 14X6.5X2.3MM 6.00

34 0019050121S INT. TORX FLAT HEAD M5X12 T25 4.00

35 58412080400 Rear reflector red 3.00

36 64108023010 Splash protection 1.00

37 0081050121 EJOT PT screw K50x12 only for US and SixDays 2.00

38 64108019000 tail underpart 1.00

39 0025060206 HH collar screw M6x20 TX30 2.00

40 83008000012 special screw M6x12x3 2.00

41 50308053000 BUSH FOR SPOILER 6X11X16X7,5 2.00

42 61408015030 METAMOLL F. TAIL LIGHT COVER 2.00


